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VI Semester B.Com. Examination, May/June 2019
COMMERCE
Paper 6.6 : Elective paper-IV : Cost Management
(CBCS) (Fresh+Repeaters) (2016-17 & onwards)
Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written completely either in English or in Kannada.

oyen - @ / SECTION - A

BINT IR TTETR VW WH-BI YA LWZOR. BE WT-TI R 2 WOBTD. 5x2=10
Answer any five sub-questions from the following. Each sub-question carries
2 marks.

1. (a) ©OoDTOD J0D0FRT VFNTI, 9.

State the features of budgetary control.
(b) BPY, DFeRB oTIER 7
What is Value analysis ?
() OJRFTIWCR 4 TORFTO WOONTH a’égﬂﬂ@d)& BROA.
Mention any four functi:tmaj budgets.
(d) 3e0Fedd w0 ﬁzimid @mmwwm& ST A.
State the benefits of ABC Costing.
(e) 3B NS oTWIeRD ?
What is margin of safety ?
(f) =N, B BToF LOWTeR ?
What is material cost variance ?
(8) &% ﬁ?émﬁé QDOTTED 2

What is Standard Costing ?

P.T.O.
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Qyen — ¥ / SECTION - B
BINT O3RH)TWIR TRTD @%ﬁ@ﬁ gV30. T TJ 6 WOINW. 3x6=18
Answer any three of the following. Each question carries 6 marks.
©0DFOH AONOYRT VTOMZLVINTRY, T, Wk,

List out the limitations of budgetary control.

57 FPPORT OHEROINYR, IR

State the advantages of Standard Costing.

20T HOFoH PHTONT 85 Oed B -
HR0LE [T T3 ORI T 20

TS ORI WIS 3¢ < 12

2t Eé)d ﬁz%ﬁ%‘o T 4,000
TOT&ROWD :

(a) ©og BT TOWIER

(b) xngp*’ RO ORRIETNYY DB BANYY
(c) BB FHAS WOTH CRRVFVY B denes) Rpooes BT 3e. 20 BRI
The following data rclates to a firm :
Selling Price Per unit Y20

Variable Cost Per unit < 12

Fixed expenses ©%4,000
Calculate :

(a) P/V ratio

(b) BEP (in units) and in value

(c) New BEP (in units) and in value if Selling Price is reduced by 20%
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ERMWRES n‘am%mm PUTOIRENR WOTH FOTR RTW JWOPFNR X OB Y o,

@D@@ﬁbﬁo“\g’}w WOt

> eongn wzgjr“% 83 BYBOBOST

X Tmogs Y S
TOAT PRI 5,000 60,000
), 0DOZ, RO 20,000 1,20,000
1.4, MFIRY R0}, 20 44
2D, 00D BTWeINY WO, 160 384

TONF T a’oemﬁz%ri% 3 Y003 :

TORIL FOWOHI 3eNTed a;’zgﬁe;o T 5,50,000

DOH BTSN JowoH3 =

SR % 8,20,000

SL

3nsd % 6,18,000

b

B Qmﬁaw“ Zoeen @@Fﬁ@m ABC m ab& euBodeeNy IOTLBOND.

A Company manufactures two products X and Y using common facilities. -
The following cost data for a month are presented to you :

Product X Product Y

Units Produced 5,000 60,000
Total Machine hours 20,000 1,20,000
Total number of Set-ups 20 44
Total number of Purchase Order 160 384
The annual Overheads are as under :

Volume related activity expenses T 5,50,000

Set-up related expenses < 8,20,000

Expenses relating to orders % 6,18,000

Calculate the Overheads per unit absorbed using Activity Based Costing

approach.

P.T.O.
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6.

O AGOFOTOZ TroPE A I LUITTIN WeTINVT TR, word WAL 15 kgs
Tone QWNY 50,% 2383 20 ©e 3.2 ﬁ ﬁ&;a‘oﬁd aésaw\%owoé 11,000 kgs jmwa’p
T 2,64,000 o3 w¥ad Tonw 1,000 wwvw%_ A T LBVBIOD mawwm
NTIOAT.

T aséa'aéﬁrw“‘w% FOWERBCND.

The Standard Material required to manufacture one unit of product ‘A’ is
15 kgs and the Standard Price of material per kg of material is ¥ 20. The
cost accounts records however, revealed that 11,000 kgs of materials costing

T 2,64,000 were used for manufacturing 1,000 units of Product ‘A’.
Calculate material variances.

Qyent — & / SECTION - C
FENT 3R ORI TARTD @Jﬁn\\ﬁ@?ﬁ YI0A. T 5'555 14 ©03n%0. 3x14=42
Answer any three of the following. Each question carries 14 marks.

BP0 WP oY HTW BRENON &N :

RNRE RT3 (ORTA]

4 i ¢
2017 1,20,000 8,000
2018 1,40,000 13,000
TOWLROND :

(a) ©oF =000k TWOIER

(b) ﬁm%% RO

(¢} ¥1,80,000 &"}3303@5% WNT o3

(d) T 12,000 ooy NERED Wetd [IjvT0L
(e) 3es wd 2018 TY

(f)  wBoRRE 5 T IREAR
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The Sales and Profits for two years as below :

Year Sales Profit
.4 4

2017 1,20,000 8,000

2018 1,40,000 13,000

Calculate :

(a) P/V Ratio

(b) Break Even Point

(c) Profit when Sales are ¥ 1,80,000

(d) Sales required to earn a profit of ¥ 12,000
(e) Margin of Safety in 2018

(f) Variable Cost of the two years
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1-4-18 JoT FOWAOD WPORT &) X 75,000, DT ~ HeDT 2018 T TR

BRD 30N INTH BOONR TIHY, SWORLL FINT B SO, VBN,

B[RO | LOcHN: Aol FoeenTIiEned

J0Nsh )
=4 =4 E4 T
aﬁ'@&ia 14,000 9,600 3,000 1,700
DIVIFE 15,000 9,000 3,000 1,900
AL 16,000 9,200 3,200 2,000
e 17,000 10,000 3,600 2,20_0
b DI 18,000 10,400 4},000 2,300
¥IT TN

(a) R3O0 ATE S0NY TOT ORE VRTTHT.
() hr)

(b) HeToRT Je. 25 INTD [TV DD, MoBTONR 1 Son¥ WOT ¥R_H JeBSRNT.

() 3RO DR FoeenBPAY B 903T 1 doriew.

(d) ©weod 301k 25,000 %A 2018 T BRBODY TOBSISINT,

P.T.O.
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A manufacturing Company is expecting to have ¥ 75,000 Cash in hand on
1-4-18 and it requested you to prepare a Cash budget for three months
April to June 2018. The following information i1s supplied to you :

Months Sales (Purchases| Wages | Overheads
i 5 = g
February 14,000 9,600 3,000 1,700
March 15,000 9,000 3,000 1,900
April 16,000 9,200 3,200 2,000
May 17,000 10,000 3,600 2,200
June 18,000 10,400 4,000 2,300

Other Information :

(a) Period of Credit allowed by suppliers is two months.
(b) 25% of Sales are for Cash and the period of Credit allowed to Customers

is one month.

(¢) Delay in payment of Wages and Overheads is one month.
(d) Income tax X 25,000 is to be paid in June 2018.

9. 60 ONYY BWONCINT 20T FORT FUT BRY DTN B FYFOWOSE :

ESESREIC SR
. 0T B | eow sed
we0nY Xosd | ms fowr | RONY 505 | =3 nowrn
B 2
ﬁ"aéc%cﬁ TONET 75 60 70 70
@&»ﬁfﬂ@sd pINeI 45 40 30 50
TTOTLT FONFT 60 30 80 20

3O 62 TOONYY WNTIORALOBH.
FOTLROWD :

(a) woaF3 3 BTOR

(b) BoWFT TT BIA
(c) TOWFE WES BIF

(d) BOWFT NI TIVF

I
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The information regarding composition and the weekly wage rates of labour
force engaged on a job scheduled to be completed in 60 weeks are as

follows :

Types of Labour

Standard

Actual

No. of Workers

Weekly Wage
rate per hour

No. of Workers | rate per hour

Weekly Wage

% T

Skilled 75 60 70 70
Semi-skilled 45 40 30 50
Unskilled 60 30 80 20

The work completed in 62 weeks.

Calculate :

(a) Labour cost variance

(b) Labour rate variance

(c) Labour efficiency variance

(d) -Labour mix variance

10, SA O08ES ©omw BRBCINDE woeesssey B VT TOTE T IR0

O OTTOU

g Horims i g s S

: NS ] TOTwe
X ¢ .
ARWN, DO 3,20,000 |=Te3ny ?-30935 800
OD0Z, AYT 3,00,000 | ESne Koo, 500
VBT 1,95,000 Q=r®5H nosdnsd 3,000
rbz‘aai}ég NERF oD 1,70,000 aaaegﬁm :Jogfgs 850
obognh 4,25,000 [chozne moo 25,000

P.T.O.
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BOBAKD 20T WHHODY wow 0BT 3,000 WORRWY, K’ TVTFF FoIWOXT. AT i
moFNY 343 T 1,20,000 D3 309 Dbr X 2,30, 000 QUTOSRENTOL BTIIRY
D@3 B éﬁﬁﬂoaoécﬂ ;
TN e 20 I
0303, X9 T 25 h
DRFBE HoBRH 600 s |
Hoaegsing oz, 30 ?j |
008, woEcdeen Tow 2,000 o

3 oW ,uaﬁwacﬂ T0eCNIT tddaiabol RESE B[RBWO YuTodReNTRT [, VT

BORD, FoMHLRBND ) FenHHE SO Db DFIOOT B 0w T
BUPOTONYS ﬁaﬁﬁa’n 50@3506@0030

The budgeted Overhead and Cost Driver Volumes of SA Ltd. are as follows :

Budgeted Budgeted

Cost Pool Overhead Cost Driver Volume

_ 4 g
Material Procure_ment 3,20,000|No. of Orders 800
Machine Set-up 3,00,000(|No. of Set-ups 500
Maintenance 1,95,000| Maintenance hours ~ 3,000
Quality Control 1,70,000|No. of inspections -850
Machinery 4,25,000(No. of machine hours 25,000

The Company has produced a batch of 3,000 components of X’. Its Material

Cost was ¥ 1,20,000 and Labour Cost was ¥ 2,30,000. The Usage of activities
of this batch are as follows :

Material Orders 20
Set-up of Machines 25
Maintenance hours 600
No. of inspections 30
Machine hours 2,000

Calculate the Cost Driver rates that are used for computing the appropriate
amount of Overhead to this batch and ascertain the cost of the batch of the
component using the activity based costing.
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(a)

(b)

g

T3 FYF0W W&SOH BHROT WeS 70%, 80% ESOE&_DQ 90% 00T, maﬁa——‘ﬁF
0ee3Te WD TIRR BoewIasy BONYRD, YOwowm BRBUVT TS S¢T &9
IO BOTILBOWO. '

&

QTN 3e. 80 TWHFEE
WWRMT ﬁzgdm;ﬂa 3
ﬁ&a{’g [APL) 12,000
oD (Stores) W WE ARIATALY) o 4,000

B8 TR ﬁacmdeﬁﬁ%

DIF 38 (30% AT) ; - 20,000

03ed I IRFHS (60% 3,0) 2,000

20 P@ned b . e . ‘ )
@ W

vl b i v 5o 1,000

ST~ I : ; |- Bl g DOB

BesIrLd Sl 10,000

2,230, F0eLDTBPATD . 62,000

900 SRS Bed Bed Kot 1.24,000 RosRed
B 39NT OROHLOT OBLBD 1 |
() =N B8 sF

-~ = 23 i)
(ii) =osHA, BT BIF . &
(iii) =N, W¥B DI
TOTONNG DOEE T ) 112,000 chedtF R

| TN DO 38 | % 36,000

2000 PIT WIVTIN WIIIWE FWNY 5 TIeee 12 SRRSO

TOTNOD SF 3T T BRI - % 10
TN WO WA 5,000 0DRAENWD
S OTTS W . 320 GhRREFA

P.T.O.
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(b)

From the following particulars calculate :

(i) Material Cost Variance

(ii) Material Price Variance

(iii) Material Usage Variance
Quantity of Material Purchased
Value of Material Purchased
Standard quantity of material
Required per unit ofl finished Output
Standard Price of Material

Closing Stock of Material

Finished Output during the year

-00o0-

12,000 Units

% 36,000

12 units
¥ 10 Per unit
5,000 units

320 units
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